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22 ceurndpn
3ABTPAK BbrxoA, , qeHa ,ropxiHo( EerKl.l ,tl Yt eBoAbl

6rlTogRx py6neHH6re x3 nrxqbr,

3aneqeHHb|e c MacIoM
100/s 48,44 249 t2,6 16,5 72,4

Phc npt4nyqeHH6ri 180 74,53 3,2 7,7 37.9
tlai "BxraMhHHbri" 200 42,9 o,7 0.1 19.8

x,e6 BxraMuHx3xoogaHHbri 20 2,00 7a 2 1 16
Synoqxa MaicKar 29,43 133,8 2,3 7,4 L4.5

o6eA
orypq5| co.neHsre 100 23,6 0,1 1,3
cync(pynoi,cryp[qet 2s0/.ro 27,26 764 6,4 20,1

xor.nera D6t6Hat 3ane,teHat 100 44,1 176 10 L2

xaprooenb, TonqeHbri no-

AepeBeHc(x
180 20,77 220 8 33

KOMnOT tl3 CBe)tll4x QpyfiOB 200 83,2 o,2 0 20,6
Xre6 nueH|4,rHbrt 40 4 87 o,4 77,5
Xne6 craBrHcRrfi 50 3 ! 24

MEHlO

noBapSprraArp 4Ar,Lttt /.u-i,L
umoeo 246,7O


